=

RACK CABINET AND ELECTRIC PANEL SYSTEMS

Efficient & Server-X Serisi Dikili Tip
600x1000 Rack Kabin Montaj Kilavuzu ve Talimatlari

(Efficient & Server-X Series Free Standing 600x1000 Rack Cabinet Installation Guide and Instructions)

PRODUCT ASSEMBLY
MONTAJ KITAPGIGI

SEGNCICACIOXCROXOXORC)

UST TAVAN-UPPER CEILING

ALT TABAN-LOWER BASE

BOY DIKME-VERTICAL POLE

RACK DIKME-RACK VERTICAL POLE
KABLO GECIS-REAR CABLE TRANSTION
YAN DERINLIK ATKI-SIDE DEPTH WEFT
YAN UST KAPAK-SIDE UP COVER

YAN ALT KAPAK-SIDE DOWN COVER

YAN BOLME-SIDE MIDDLE FIXED COVER

ARKA KAPAK-REAR COVER

CAMLI ON KAPAK-GLASS FRONT DOOR
& &

PERFORE ON KAPAK PERFORED

\\\ N
R
N \_\_\\_\_

AN
N
NN
N
N
ninlmny

NN

N




Efficient & Server-X Serisi Dikili Tip

600x1000 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x1000 Rack Cabinet Installation Guide and Instructions)

v @ BOY DIKME
VERTICAL POLE

M6 SOMUN
M6 NUT

P
DETAYI
M6 SOMUN
DETAIL B NUT @
@
L Mex15YB Z
CIVATA
M6X15 SCREW DDEgTA AY| ||.
Y-Y
DETAYI
DETAIL 7-Z
Dort adet dikmeyi (Y-Y VE Z-Z)detaylarinda goziiktiigii gibi tek tek alt tabana vidalayiniz. DETAY!l ~
Ust la ayni sekilde dort késeden vidalayiniz. DETAIL
Screw the four posts (Y-Y AND Z-Z) into the sub-base one by one as detailed as shown. M6X15 YB
Screw the upper ceiling in the same way at all four corners. M6X15 SCREW

Not:Kabini isteginize gére dikey veya yatay konumda montaj yapabilirsiniz.
Note: You can assemble the cabinet in horizontal and vertical positions according to your wishes.




C Efficient & Server-X Serisi Dikili Tip
§AN

600x1000 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x1000 Rack Cabinet Installation Guide and Instructions)

DETAYI

=

4

(5)  KABLO GECIS
REAR CABLE TRANSTION

Kablo gecis kapagini (X-X) detayinda gésterildigi sekilde uygun vida ile vidalayiniz.

X-X
Her iki tarafada ayni islemi uygulayiniz.

DETAYI
DETAIL

Screw the cable cover (X-X) with the screw shown entry

appropriate as in detail Do the same procedure on both sides




Efficient & Server-X Serisi Dikili Tip

S y " :
§AN 600x1000 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x1000 Rack Cabinet Installation Guide and Instructions)

| DETAYI
DETAIL

z A5 M6X15 YB
A CIVATA
2 . M6X15 SCREW
]
N\ \
9
|/

K N|
P, M6 SOMUN \%

N M6 NUT

Yan derinlik atkisini (V-V) detayinda gosterildigi sekilde uygun civata ve somunla vidalayiniz. a N
Yan derinlik atkisinin diger taraflarinida ayni sekilde yapiniz. o \%
@ YAN D E RI N LIK ATKI Screw the side depth weft (V-V) with the appropriate bolt and nut as shown in detail.
Do the other sides of the side depth weft in the same way.
SIDE DEPTH WEFT Not: Yan derinlik atkisi 34U ve iizeri kabinlerde kullaniimaktadir Vv L=
Note: Side depth weft is used in 34U and above cabinets. DETAYI ——
DETAIL




Efficient & Server-X Serisi Dikili Tip

§AN 600x1000 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x1000 Rack Cabinet Installation Guide and Instructions)

YAN BOLME
SIDE MIDDLE FIXED COVER

DETAYI
DETAIL

Cc-C
DETAYI
DETAIL

Yan béime sacini (C-C) detayinda gésterildigi sekilde uygun vida ile vidalayiniz.
Assemble the side partition sheet (C-C) with an appropriate screw as shown in the detail.

Yan bélme sacini diger tarafinida (C-C) detayinda gosterildigi sekilde yapiniz.
Create the other side of the side partition sheet as well, following the (C-C) detail. —
CIVATA
M5X15
SCREW

Not: Yan bélme saci sadece 42U 600x1000 ve 42U 800x1000 dl¢iilerindeki

kabinlerde kullaniimaktadir.

Note: The side partition sheet is used only in cabinets with dimensions of 42U 600x1000 and
42U 800x1000. ~




Efficient & Server-X Serisi Dikili Tip

600x1000 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x1000 Rack Cabinet Installation Guide and Instructions)

=

RACK CABINET AND ELECTRIC PANEL SYSTEMS

RACK DIKME
(4) RACK VERTICAL POLE

7

M8X15 YB N

> CIVATA \
M8X15 SCREW

Rack dikmelerini yan derinlik atkisina (H-H) detayinda gosterildigi sekilde uygun civata ve somun ile
vidalayiniz.Diger késelerede ayni islemi uygulayiniz.

Fix the rack uprights to the side depth weft (H-H) with the appropriate bolt and nut as shown in detail.

screw it in. Do the same for the other corners.

M8X15 YB
CIVATA
J M8X15 SCREW
. H
DETAYI
/ DETAIL
H-H
I DETAYI
DETAIL CIVATA KESITI
SCREW SECTION DETAIL
/ Q
R :
\ h
By
N G-G
E MaX15 Y8 DETAYI
CIVATA
h m: :ﬂlTauN M8X15 SCREW DETAIL
P R ’
N
Q

\N
\U;Uﬂ Vodw/sdud
\\\ \
\

Rack dikmelerini (G-G) detayinda gésterildigi sekilde uygun civata ve somun ile alt taban ve iist tavana
vidalayiniz.Diger késelerede ayni islemi uygulayiniz.

Screw the rack uprights (G-G) to the lower floor and upper ceiling with the appropriate bolt and nut as

shown in detail. Do the same for the other corners.

Not: Yan derinlik atkis1 34U ve iizeri kabinlerde kullaniimaktadir.
Note: Side depth weft is used in 34U and above cabinets.




Efficient & Server-X Serisi Dikili Tip

§AN 600x1000 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x1000 Rack Cabinet Installation Guide and Instructions)

(7)  YAN UST KAPAK
SIDE UP COVER

=g
DETAYI
DETAIL
K-K /

DETAYI
DETAI

N

YAN ALT KAPAK
SIDE DOWN COVER

Yan alt ve (ist kapaklarin alt kisminda (K-K)detayinda gdsterilen kapagi sabitleme biikiimleri alt
Kapagi sabitleme bikimi tabanda ve yan bolme parcasindaki uygun yariklara yerlestiriniz.Daha sonra kilitteme islemini

yapabilirsiniz.

Place the cover with fastening bends shown in detail (K-K) on the bottom base and the side

partition in the appropriate slots.

Then, proceed to perform the locking procedure.

Twist to fix the cover

Not: Alt ve (ist yan kapaklar sadece 42U 600x1000 ve 42U 800x1000 él¢iilerindeki
kabinlerde kullaniimaktadir.

Note: The lower and upper side covers are only used for cabinets with dimensions of 42U
600x1000 and 42U 800x1000.




Efficient & Server-X Serisi Dikili Tip

§AN 600x1000 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x1000 Rack Cabinet Installation Guide and Instructions)

Camli 6n kapagin iist k la (D-D) detayin gésterildigi gibi
yaylh pimi asagi dogru cekerek list tavandaki pim deligine yerlestiriniz.

As detail shown on top of glass front cover (D-D) ARKA KAPAK

pull the spring pin down and insert it into the pin hole in the upper ceiling.

REAR COVER
# /

M8X15 YB
CIVATA

s M8X15 SCREW
CETA % 2
<°@ >
7
7 /-/_ /'/-/ 7/
S
7000
7
/ . 7 7/ 4 [)
DETAYI . Y
DETAIL 70000
P / W I - M-M
CAMLI ON KAPAK 4, REman | oETAY

GLASS FRONT DOOR -
/ DETAYI

r DETAIL
i T-T
HETALL o DETAYI
DETAIL DETAIL
Kapag sabitleme biikiimii
Twist to fix the cover

Camli 6n kay alt k da (F-F)detayinda gésterilen kapagin gegme pimini alt tabanda

uygun delige yerlestiriniz.
Place the pin of the cover shown in detail (F-F) at the bottom of the glass front cover into the
appropriate hole in the lower base.




Efficient & Server-X Serisi Dikili Tip

600x1000 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x1000 Rack Cabinet Installation Guide and Instructions)

RACK CABINET AND ELECTRIC PANEL SYSTEMS

Camli 6n k st k da (D-D) detayin gésterildigi gibi

yayl pimi asagi dogru cekerek list tavandaki pim deligine yerlestiriniz.

As detail shown on top of perfored front cover (D-D) ARKA KAPAK

pull the spring pin down and insert it into the pin hole in the upper ceiling.
REAR COVER

&

D-D
DETAYI
DETAIL

M
DETAYI
DETAIL

1080202080303050803030)
0202080202030803030!
1930202080302050803030)
080202050803050)
3

&
980509030
9509

M-M
. DETAYI
PERFORE ON KAPAK DETAIL DETANL
PERFORED FRONT DOOR E
DETAYI
EF DETAIL
. T-T
DETAYI / DETAYI
DETAIL DETAIL
Kapagi sabitleme bikiimii
Twist to fix the cover
Camli 6n kapagin alt k da (F-F)detayinda gdésterilen kapagin ge¢me pimini alt tabanda

uygun delige yerlestiriniz.
Place the pin of the cover shown in detail (F-F) at the bottom of the perfored front cover into the
appropriate hole in the lower base.




. Efficient & Server-X Serisi Dikili Tip
nnnnnnnnnnn Ban 600x1000 Rack Kabin Dahili Donanim Malzemeleri
(Efficient & Server-X Series Free Standing 600x71000 Rack Cabinet Internal Hardware Materials)
40x M6x15 40x M6 12x M8x15 B 12x M8 4x M5
Mantar Bagh Altikdse Flangh | Mantar Bagh = g, |Altikése Flangh Mercimek Bagh
Kanal Civata Somun 4 1 \\@\ Kanal Civata : = @ & Somun Ysb Vida
(40x M6x15 (40x M6 ' J (12x M8x15 gf‘ ) (12x M8 (4x M5 Lentil
Mushroom Hexagon Flange Mushroom S Hexagon Flange Head Ysb
Head Bold) Nut) Head Bold) Nut) Screw)
1x On Kapi 1x Kapu Kilit 6x Yan ve Arka 12x Kapi Kilit
Kilidi Anahtari Arkasi Rozeti Kapak Kilidi Anahtarlari
(1x Front Door (1x Door Lock (6x Side and (12x Door Lock
Lock Key) Back Badge) Back Cover switches)
Locks)
Montaj icin Gerekli Aletler
(Tools Required For Assembly)
1x Yildiz
. = 5
(T;)’(r/';;);/'f'z 1x Pense \ 1x Sarji Matkap
/2 (1x Pliers) (1x Cordless Drill)
screwariver)

Amator Seviye
(Amateur Leve/)

Amator Seviye
(Amateur Level)

Profesiyonel Seviye
(Professional Level)

10




